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1. A five-digit number is taken. Sum of the 1. UId/3{®! P! TP WV Al &Il g1 Ugat
first four digits (excluding the number at the TR @aﬂ N (FHT5 VI TR Dt TBAT
unit's digit) equals the sum of all the five @I BlsHY) W UMT IHI F TN F W &

digits. Which of the following will not divide U@ # | #I9 39 JBT F TS

this number necessarily ? U fawnfoma T8t sem 2
a) 10 10
She il s i de.

9/ 4 W4 BT - 2

d 5 d 5
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2. A number 15B is divisible by 6. Which of 2. wziw 158 @, fasrsT 21 W'{Uﬁﬁ B}»‘
these will be true about the positive mtgq_jr B? fav !ﬂ'# & Fi T g1 ?

a) B will be even L@ a) BUF GH GEATE
b) B will be odd b) BU& QA &
¢) B will be divisible by 6 ¢) B6 ¥ R@uST e
\d/ Both (a) an (c) d)(a) 3T (c) =T
UL Ad , “ Y

(I3 R 3 7




3. Which of the following can be a number
divisible by 24?

a) 43215604

b) 2561284

%362480

d) None of these
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4. For a number to be \h\bleby88 it should 4%“@133883%1"@@3%%?3@
be ? 'G'\:l'lﬂﬂ%q ?
a) Divisi 2 and 8 a) 22 3R 89 favrsy
b) Divisible by 11 and 8 b) 11 3R 8 | faursw
¢) Divisible by 11 and thrice by 2 ¢ NIAfRYmaRR2eTTIR

\9)/ All of these \d)/m Tt




37. Two statements S1 and S2 are given below
followed by a Question :

S1 : There are not more than two figures on any
page of a 51-page book.

S2 : There is at least one figure on every page.

Question: Are there more than 100 figures in that
book? Which one of the following is correct in

respect of the above Statements and the Question?
UPSC PT 2020

a) Both S1 and S2 are sufficient to answer the
Question, but neither S1 alone nor S2 alone is
sufficient to answer the Question.

b) S1 alone is sufficient to answer the Question.

c¢) S1 and S2 together are not sufficient to answer
the Question.

d) S2 alone is sufficient to answer the Question.

7. A QsEsiaks2Remw Ry ac e

UH%:

S1: 51 q%a%ma;wmqgwaam
|

S2: U® U§ UX HH | $H TS ATPHfd gl

Question: T o 100 & 3ftre 2

m;;?mﬁgfgwuﬁm d PH-

|1 ?

a) S1 ¥ s2 31 &1 Uy &1 I°X 31 & foe vafw &,

afdb= 9 d §1 AP o 3R T 81 S2 AdpA Y BT I

A & fore gafa 21

b) S1 3P A Y BT I0X o4 & forw uafa g1

;)g%wmaﬁ%ﬁ‘mm 3 s2 TP ¥y g
|

d) S2 AP UY T I o4 & ferw uafa g1



67. For any choices of values of X, Y and Z, the 67.X,Y 3R z & Al & foelt oft e & ferg,
6-digit number of the form XYZXYZ is@)(\fz & ¥U DI 6-3H 1T B frad faursa

divisible by : UPSC PT 2023 ?
a) 7and 11 only a) &ad 7 3R 11
b) 11 and 13 only b) ¥ad 11 3R 13
¢) 7 and 13 only c) Faa 7 3R 13

\d/)7,11and13 \/d)/7,11and13
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68. Let x be a positive integer such that 7x + 68. HI4 e x U@ L Evlfaf ® 3R 7x +
96 is divisible by x. How many values of x are 96, x ¥ fAUTRI 81 x & fFar A HUT & 2
possible ? UPSC PT 2023
a) 10 a) 10 ﬁc;zwyj
b) 11 b) 11 5 5
v‘"{ 12 e} 12 PXIX R

d) Infinitely many
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70. A number N is formed by writing 9 for 99  70. W W TP U@ N a4t 21
times. What is the remainder if N is divided by  af¢ ¥ fAwrfora fear se &t Juwa
132 UPSCPT2023 foaamrenrm?
A @ TEQ- - — @
b) 9 b) 9
)17 5}, c) 7

d 1 BS %T d 1




